GRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5t"), FEBRUARY 2018 \

Seat No.
Paper No. II Medium : English Time: 1:30 to 3:00
. Third Language and Intelligence Test
@ges 32 guag g Total Marks :ly
Read the following instructions carvefully before you answer the questions.
(1) This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language
and in Section II there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.
(2) All questions carry 2 marks each.
(3) Time limit to solve the question paper is 90 minutes.
(4) Separate answer sheet is given to record the answers. Each question has been given four alternatives.

)

(6)
(7
(8)
)

(10)

(11)
(12)

(13)
(14)
(15)

Read them carefully. Select the correct answer and shade the correct answer in the answer sheet.
Example :— If the correct alternative for Q. No. 6 is 2, then record your answer as follows:

Question No. 6 QO @ B ®@

Answer recorded in any other form will not be considered. Such answer will be credited with 'Zero' mark.

Example: @ @ ® ®

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will
not be credited.

Once you have darkened the circle as correct alternative you cannot change it.

If more than one circle are darkened or overwriting is done, the answer will not be accepted.

The rough work is to be done in the space given under each page do on the last page or the question
paper.

If you do not know the answer to any question, do not spend much time on it and pass on to the next
one. If the time permits you can come back to the question which you have left in the first instance
and try them again.

If you find any question incomplete or with error, then or not ask anything to the Supervisor or
Centre Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/ mistake/objection issues should be register
online through respective school login only.

The error/ mistake/ objection issues should be register online within 10-days from the publication of
Interim answer key on MSCE website.

Questions can be cancelled due to printing mistake or any other reason, on the basis of the suggestions
given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is
also provided. In case of doubt please refer to the English version of the same question.
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

1. GO Grar frerer ST ST shidr?
(1) o, memre
(2) weHRh, garasft
(3) gawaedt, Hrn

(4) 5, T

2. HIUTAT T ToAT 3Heh @icdrel 3T@d?
(1) garyedt (2) gy

(3) wir (4) gmo

3. Gl SRl Sedia ekl Tae ahiuTd ?

(1) qar=n =l dEes T

(2) =1 == A ST -iEE .

(3) Y W T SIS A9

(4) =1 =_a e d9gl S| AL

Space for Rough Work
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Alphabets: ABCDE FGHIJ

KLMNO PQRST UVWXY

4. AT HHIB! HIUT ISaA?

(1) gmu=n Arers

(3) ¥

5. WA ST hegl WS Iara?

(1) T™Ran WA

(3) Wog eI

6. TSI ThIUT SIS HTEA Tal?
(1) === e

(3) ®UER TR

(2) A= TE

(4) SArsiten

(2) TMEAT THARA SR

(4) S HeIHN

(2) UIRSIIaeRT= e

(4) e &S

7. faciear areTdel STaRfEd IeITETsT WHETe THeren g et

Il UTHE FNTET IS Hd a9,

(1) dsm (2) 9"

(3) HMER (4) 3ofg

Space for Rough Work
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8. WrelieTient Tasegrell vrearet era e wrer faer
(1) smeau x fago (2) BHO x &0
(3) 3@ X TheAdl (4) A8 X HISTeo
9. facican yT=EwREEEd aFd v udiEiga faer
ST JMSAESIer AR 1dr’
(1) =T=351 (2) gFarEr
(3) i (4) TR
10. saigyieh IETER Sehret Set fasl.
(1) Ti-<iehR (2) ArRS-TSRA
(3) AR-ShhId (4) FFTES-FhR
11. 9Tt yaren= o< a9 urvne
(1) 19 (2) &t
(3) oo (4) e
AT HIATHTST AT
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

12. TS SIS 1T T ATeld?
(1) &r@r (2) STER@m
(3) famor@m (4) dierar

13. STEYER 9 31 AAR Tehi< el et

(1) HIET HIO - @I SIAvIr= 376 AT

(2) TIT HO - Hicheo! TATH HUI

(3) HEdETeRT B0l - TiEegd Sl

(4) =TS AU - 3Teed A0

14. Taoiear STeRiuTgT TR ST WUfdieT Wefet 3T8R ShIvT Ager?

S

B

(1) 7 (2) @ (3) 8 (4) ™

Space for Rough Work
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15. feorean areTdier sreifad vregren e fHaer,

(1) TS, (2) hIEAH
(3) | (4) ArEat

16. YErcTien ShIUTAT SIS9Tes ATET?
(1) & (2) HMIHN

(3) <hTHehTS (4) S

17. &, g, o1, T, T A1 UM STQRUTEA Y01 916 TN hedtd &1d Yaeel 378 ahivra?

(1) = (2) T (3) @ (4) 9

18. faciean amaaTa TSRO Tohdl A8 2ATel 3TMRd?

HEHSAT Tl HEheTell I A 3R,
(1) 3H (2) =R (3) ¥ (4) TH
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

19. Yot shivTa feRamae Eh?
(1) (2) =

(3) 4 (4) %

20. Taerear u=iEga faegafentt yregret Jehiel SISl HasT.
(1) HeAH-IH (2) ga-Fadt

(3) siom-siadt (4) argern-drge

21. fecien wataiqa Fiyeduor sFeRaert v fast
(1) =it (2) it

(3) et (4) T

22. faerean areRTd TRl Tohdidest @eafaem’ § fas =uma anrer?
JMTZA WUE hichics TerHUaT M@ o wde faaam.

(1) 9 (2) =
(3) =R (4) T
Space for Rough Work
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23. U@tcTient 3Ry vy fraet
(1) e (2) Bfo

(3) Fped (4) 841

24. Higar 9 Hat ATAR Fehret St ST
(1) 9dT - 31 . gufores
(2) derdic- g™ Ty

(3) & TM-fa. 1. perskoit

(4) BRI FRIUTS-T1.8. 92

25. ‘ugwt’ € SuTelt YSAdeh ShIvTIAT ATET?

(1) fagea st B (2) 99 U
(3) afeHeh! (4) ¥iel hIE
AT HIATHTST AT
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

Section 11

Intelligence Test

26. '""Merit consists in doing good to others, sin in doing harm to others.' In

this sentence how many words having five letters each are more or less than

the words having two letters each?
(1) more by 2 (2) less by 1

(3) less by 2 (4) more by 1

Instructions for Q. Nos. 27 to 31 : Find out the odd term.

27. (1) 17 (2) 290
(3) 730 4) 71
28. (1) 319 (2) 232
(3) 251 (4) 174
Space for Rough Work
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Fqeddl : ABCDE FGHIJ KLMNO PQRST UVWXY

29. (1) Preliminary (2) Prehistoric

(3) Prepaid (4) Preposition

(2)

4)

{;
R

N

4

S
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

Instructions for Q. Nos. 32 to 33 : Observe the number series and find the correct
alternative to replace the question mark. (?)
32. 114, 85, 62,43, ? 13

(1) 26 (2) 18

(3) 24 (4) 21

33. 11,12, 16,52, ? 92, 96
(1) 77 (2) 56
(3) 61 (4) 83
34. Aman is standing 10 metres away from Obama facing North and 20 metres

away from Rafiq facing NORTH-WEST, then in which direction is Rafiq

standing to Obama?

(1) East (2) West
(3) North (4) South
Space for Rough Work
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Fqeddl : ABCDE FGHIJ KLMNO PQRST UVWXY

35. If the mirror is held from the left side of the given figures. which figure will
look as it is?

M [HTH 2)|[YNY

3| ZI 4 |0S0O

36. Find the correct figure from the alternatives which is the mirror image of
the question figure.

Question Figure

(D (2)
(3) 4)
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

37. If 6th August was Friday, then in the same month what date it will be on
last Wednesday?

(1) 31 (2) 25
(3) 27 4) 30

Instructions for Q. Nos. 38 to 39 : Select the correct figure that is water image
of the question figure from the alternatives.

083

T

38. Question Figure

o|p83)  =|osB

vldsel  lese

Space for Rough Work
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39. Question Figure e

A

e

BTTT7777 7T T

AN §
(1) 2)
s ¥
0
W

€) (4)

= s

40. Rekha's second birthday was on Saturday 25th July 2009, then on what
day was she born?

(1) Monday (2) Tuesday
(3) Wednesday (4) Thursday
oAl HTHTHIGT ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

41. In the given alphabetical series which letters are repeated same number of
times?

Letterst:A B CDBACADCDACDBZC

(1) Aand D (2) Dand C

(3) Aand B (4) Dand B

Instructions for Q. Nos. 42 to 46 : There exists a certain relation between
first and second term. The same relation exists between third and fourth
term. Considering this choose the correct alternative to replace the question
mark (?)

42. Goa : Panaji: : Aassam : ?
(1) Ranchi (2) Kohima

(3) Dispur (4) Gangtok

43. 3564 :6::7827 :?

(1) 2 2) 8 3) 12 (4) 10

44. 36 : 10::27:?

(1) 26 (2) 16
(3) 15 (4) 24
Space for Rough Work
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.

45. N SN

(D 2) 3) T [ @

V:NE Y ()

@ (2) @

3) @ 4 l@

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

47. By interchanging the digits of the numbers in the given number series how
many Prime numbers will form?

Letters : 31, 59, 35, 19, 17, 34, 16, 89, 74

(5 (2) 7 3) 4 (4) 6

48. | Alphabetical Series : ABCDE FGHIJ KLMNO PQRST UVWXY

3
Find out between which two letters the 5 th of the letters between G and
R occurs in the above alphabetical series.

(1) Band H (2) Kand S (3) Hand O (4) Dand H

Instructions for Q. Nos. 49 to 50 : Find out the figure from the alternatives
which exactly matches the question figure.

,7/.
49. Question Figure % %
%
\ 7 7
(1) @§\ N @ ([T (3) %%% @) %i/%
N\ = 7 /)
Space for Rough Work
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Fqeddl : ABCDE FGHIJ KLMNO PQRST UVWXY

50. Question Figure
(D @ (2) @
) @ 4) @

51. See the number arrangement and find the number that will replace the
question mark from the alternatives.

2 | 8 | 5
7 | 3 9
3 2 | 4
(D)1 2) 0
(3) 6 (4) 10

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

Instructions for Q. Nos. 52 to 53 : Observe the given Venn diagram and answer
the questions based on that by selecting the correct alternative.

N
93

N

/>

52. What is the total of the numbers given in the triangle, oval and hexagon

only?
(D) 16 (2) 23
(3) 15 (4) 27

53. Which number is common in the three figures?
(1) 4 (2) 5

(3)9 4) 3

54. In a code language 'S' is called '4', '3' is called '7', '4' is called '2', then in
the same language 4 + 3 x 5 = ? (how much)

(1) 19 (2) 36
(3) 30 (4) 60
Space for Rough Work
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55. In a code language ® means ~ 7

like wise 14 ® @ =10

3@71=13
Then 42 ® 1= how much?
(1) 4 2)9
3) 6 (4) 5

Instructions for Q. Nos. 56 to 60 : In each of the following questions three
words are given with some common relation, so their group is formed. Select
the word from the alternatives given which has the same common feature of

the given group.

56. Brain, Lungs, Heart,

(1) tongue (2) hand

(3) liver (4) leg

57. 343,27, 125,

(1) 216 (2) 261
(3) 49 4 1
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

58. 8525, 7612, 9372,
(1) 5824 (2) 6083

(3) 3701 (4) 9824

59. g E
(1) [§ 2)

AV

- A

o /N @ R

A U
S WA
Space for Rough Work
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61. In the following table letters are replaced by symbols.

Letters A B C H I @) P R

Symbols A Vi e + X < # =

Using above symbols, how will opposite of 'POOR' be written?
(1) #<<= Q2Q)=x@+

3) £=AV 4)=xV+

62. Observe the arrangement of numbers. Find the correct alternative to replace

the question mark (?)

B &) ) S\

(1) 2 (2) 5
(3) 4 4) 3
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

63. There is a typical order in the given figures observe them and select the

corrct alternative to replace the question mark (?)

(D (2)

3) | f@ (4)

64. If elephantis called tiger, tiger is called rabbit, rabbit is called lion, and lion

is called bear, then who will be called our national animal?

(1) tiger (2) rabbit
(3) elephant (4) lion
Space for Rough Work
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65. Observe the given series and find out which symbols will replace the question
mark (?)

OCc® 10 leeOC,00Ces, 7, CeeOJC
1) 3% eSO 0
0 e CGI100
Qi s geg ol
4 X0 O

66. In the given number series find out the odd term.

11, 27, 51, 83, 102, 171

(1) 51 (2) 27
(3) 171 (4) 102
THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY
67. In a code language BAT = 278, ANT = 276, NET = 765, then in the same

code how 'BEAN' is written? (It is not necessary that the order of the letters

and number is same.)
(1) 8572 (2) 8526

(3) 7685 (4) 8356

68. From the given statements whose activity is incorrect. Choose the correct
alternative.

(1) Aditi prepares compost manure from the dried flowers and leaves.
(2) Sharvin always brings things from the market in plastic bags.
(3) Rukhsana actively participates in the social activities.

(4) Palak promotes antipollution advertisement.

69. Ason's present age is 4 less than % of the mother's present age and 2 more

1
than 3 rd of the aunt's present age. If the present age of his mother is 42

years then what was the age of his aunt two years ago?

(1) 43 (2) 45
(3) 47 (4) 40
Space for Rough Work
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70. How may triangles are there in the given figure?

(1) 9 (2) 13

(3) 15 4) 12

71. In a running race of 5 students, Ahmed was ahead of John. Gautam was
between Ahmed and Sameer. Harbhajan was between John and Ahmed.

who was at the centre?

(1) John

(2) Sameer

(3) Gautam

(4) Ahmed

THoAT HTHTETST ST
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Alphabets: ABCDE FGHIJ KLMNO PQRST UVWXY

72. The clues of same dimension are arranged according to the given figure

and a new figure is formed. How many faces will be there of such figure?

(1) 12 (2) 8

(3) 10 4) 11

73. If the electric poles are erected at 60m distance on 1.5 km long road on both

the sides, how many poles will be erected?

(1) 25 (2) 26
(3) 50 4) 52
Space for Rough Work

0502 - A P.T.O.




Fqeddl : ABCDE FGHIJ KLMNO PQRST UVWXY

74. What is the number of quadrilaterals in the adjacent figure?

(15 (2) 4

(3) 7 4) 6

75. The teacher is not in the class and two students enter into a quarrel. What

will you do as a monitor?

(1) You will see how they fight.

(2) Inform the subject of fight to the class teacher.

(3) You will convince them and try to sort out the issue.

(4) You will prohibit both of them.

THoAT HTHTETST ST
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